
0 50 100 150 200
circular radius in arcsec (aperture/2)

11

10

9

8

7

6

5
cu

m
 m

ag
: r

ed
=

fit
te

d,
 b

la
ck

=
m

as
te

r
ngc4649K
pix= 0.606 std=20.000
MU0= 24.16 -->  24.16
K14/2=      8.18300

dotted: +/-0.5 STD

0 50 100 150 200
elliptical radius in arcsec

11

10

9

8

7

6

5

cu
m

 m
ag

: w
h=

cl
ea

n,
 r

ed
=

sk
y K20 = 5.825    146.6  dK20 = 0.144

Kext= 5.739   241.3  dKext= 0.289

 

-400 -200 0 200 400

-400

-200

0

200

400

clean  

-400 -200 0 200 400

-400

-200

0

200

400

sky

/home/eija/MASTER_DAT/nirsos_kcali2011.dir/ngc4649K_calibration eija@noita.oulu.fi  Tue Mar 29 21:24:14 2011


